Thursday 4th March- Bronze Q1-3, Silver Q4-6 and Gold Q7-9
Use the bubble method to find these percentages (templates are on the Monday and Tuesday Home Learning Page) EMAIL TO MRS WILLIAMS OR MR GREEN TO BE MARKED.
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Ta. All wans fo raise £40 for charity. He.
hopes fo raise 50% of that fofal at @ party.
This is what people gave:

Person Amount given
Rich Fella 10% of £80
‘Guy Withmoney 10% of £30
Lotta Cash 50% of £10

How much money did he raise?
i he reach 50% of £407

20. Ol and Shae are fying fo get the

largest answer. Tney can only change.

one port of fhe calculafion below.
10% of 80kg = 8kg

~Ollie says, “l willind 10% of 100kg fo
make the lorger answer.”

+shae says, “I wilfind 50% of 80Kkg fo
make the lorger answer.”

Who has made the largest answer?

3a. Esme fied fo calculate 10% of 500 but
she has got the answer wrong.

She says,

To find 10% of 500, |
divided 500 by 2
and got 250 as an

“ answer.

Explain Esme’s mistake.

%





image2.png
4a. Tia wanfs fo raise £500 for fhe church
f0ot. She hopes fo raise 2% of that fofal
at a church fair. This is what people gave:

Amount given
1% of £6,800

Penny Pincher 10% of £360

Noah Goodeal 50% of £66.

How much money did she raise?
Did she reach 25% of £5007

5a. Shona and Toby are frying fo get the
largest answer. They can only change
one part of the calculafion below.

1% of 1,300cm = 13cm

+shona says, “I will find 25% of 1,300cm to
make the larger answer.”

+Toby says, 1 il find 1% of 3200cm fo
make the lorger answer.”

Who has made the largest answer?

66, Raoul fied fo calculate 25% of 608 but
he has got the answer wrong.

He says,
To find 25% of 408, |
divided 608 by 2
and got 304 as an

“ answer.

Explain Raou's mistake.
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7a. Dylan wants fo raise £485 for charity.
He hopes fo raise 50% of that fofal at an
art exhibifion. This is what people gave:

Person Amount given
Ruby Dealer 25% ol £335
Liv Decadent-lee | 1% of £4,540
Max Profits 10% of £1,196

How much money did he raise at the
parly? Did he reach 50% of £4857

80 Cal and Eva are frying fo get the

smallest answer. They can only change.

one part of the calculafion below.
25% of 2.35km = 587.5m

~Cal says, 1 willfind 25% of 1.67km to
make fhe smaller answer.”

+Evasays, “lwill find 1% of 2.35km fo
make the smaller answer.”

Who has made the smallest answer?

9a. Layla fried fo calculate 50% of 9.4m in
cm but she has got the answer wiong.

She says,

To find 50% of 9.4m
in cm, | divided
94cm by 2 and got
“_47cm as an answer.

Explain Layla's mistake.
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